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Q.No: 1 Which of the following content is found in excess in Laterite Soil?
2426904

Frofifea & ¥ o 9@ el dexe gt 7 offie e 7 o wRi 82

Nitrogen
A

ARG

Calcium
B

Fferrm

Potash
C

Terr

Organic Matter
D

P Terf

Correct Ans : C

Subject : General Knowledge

Q.No: 2 is associated with the Bhakti movement in the North India.
2427023
_ W YRA A i S 3 9T R
Kathak
A
YD
Bharatnatyam
B
CIGEIEL
Kathakali
c
YD

Mohiniyattam

Afeftergn

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Which of the following statements is incorrect about Swami Dayanand Saraswati

2427982
Wit TaFE T & AR H el 7 9 S a1 S e 82
He founded the Arya Samaj.
A
IR I T BRI F
He was opposed to idolatry and priesthood.
B
9% HfigeT 3R dRft & i &
He believed in the infallibility of the Vedas.
C

q 331 1 el ¥ Ry Fa A

D He was against the study of western sciences.

Submit

Moderz



g Ui fage & siege & faan U1

Correct Ans : D

Subject : General Knowledge

Q.No: 4 When does International Customs Day observed?
2430692

SRR A1 Yo e e HAAmT Siren 32
12 May

1208

30 April

30 3fid

26 January

26 FER

21 August

21 T
Correct Ans : C

Subject : General Knowledge

Q.No: 5  The Quit India Movement was also known as-
2432432

HRA BIS! SHIeH Pl ------- F A A ST S A

The August Movement

A
ST 3G
Khilafat Movement
B
e sitder
Satyagraha
C
RSP
Kheda Movement
D

ST S
Correct Ans : A

Subject : General Knowledge

Q.No: 6  What is the economy of India like?
2434488

R Bt srefoqaeyt frg UpR I R 2

Capitalist

oftardt

Communist

Trgargt

Mixed

fafta

Socialist

KLIE GG

Correct Ans : C

Subject : General Knowledge



Q.No: 7 In which of the following years Queen Victoria assumed the title of Kaiser-i-Hind (the Empress of India)?
2435716

Frofafea & 3 o af AerrT i 7 Fw-u-e (URa 31 wwRt) 3t Sufy uror @

1878
A

1878

1877
B

1877

1876
C

1876

1875
D

1875

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Who won a gold in Commonwealth Weightlifting Championships 2021?

2437134
FTaR Jefrien Ffgafm 2021 # e e ofw 32
Mirabai Chanu
A
AR =1,
Sanket Mahadev Sargar
B
bd Heled R
Pardeep Singh
C
Wi fig
Gurdeep Singh
D

R Rig
Correct Ans : B

Subject : General Knowledge

Q.No: 9 Gurupurab festival is celebrated in which state?

2440797
T® X9 I (59 159 H A1 91l 82
Punjab
A
LEiE]
Himachal Pradesh
B
ferarere wet
Uttarakhand
Cc
IREES
Haryana
D
ghamon

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which country emerged as the winner of the Asian Champions Trophy men’s hockey tournament held in Bangladesh?
2440826

iR § s TR AR 2ot e e ghfie ¥ s % w9 § S 91 3w IR



A India

Nepal

Korea

Fifar

Pakistan

i

Correct Ans : C

Subject : General Knowledge

Q.No: 11  In which city Madhya Pradesh Athletics Association is situated?
2440916

T TR Qydfeay THIRRH fh weR # R #2

Indore
A

R

Rewa
B

Jar

Bhopal
(o}

e

Ujjain
D

I

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Dr. Shankar Dayal Sharma served as a President in -
2441262

ST, T e TAT A APl & FY D B fbare

1992-1997
A

1992-1997

1986-1991
B

1986-1991

1981-1986
C

1981-1986

1976-1981
D

1976-1981

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which book was written by Dr. B.R Ambedkar?
2441289

3T, dL3R. ISR A I Ul graw ot <
The Heart of the Buddha

IFE AP T TE
B The Buddha and His Dhamma



T 3 US o v

Dhammapada
c
YIS
Siddharta
D
Rrgmd

Correct Ans : B

Subject : General Knowledge

Q.No: 14  Which city in Madhya Pradesh is named after Raja Bhoja?

2441313

T U & Tbd WG] BT A o1 30 & AW TR @I T 82

Indore
A

w©R

Bhind
B

fils

Bhopal
c

Tt

Betul
D

g

Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which of the following districts fall under Central India plateau?

2441447
Froffea § § &1 @ for AT 4R & TR & Sffa o 82
Shivpuri
A
g
Khandwa
B
gsar
Indore
C
R
Sidhi
D
W@t

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Tree cover in Madhya Pradesh has increased by sq km as compared to the previous assessment report of ISFR 2017.
2441571

378 000G, 3R, (ISFR) 2017 & el graies RIS o1 g & ey vor o g & smavur § af It @t afg g€ &

500
A

500

266
B

266

C 622



622
1100

1100
Correct Ans : B

Subject : General Knowledge

Q.No: 17 First Finance Commission of Madhya Pradesh was constituted in which of the following year?

2441783

T YN & Ut fad i 1 e FRafaied § | e ad fear man are

1988
A

1988

1982
B

1982

1992
C

1992

1995
D

1995

Correct Ans : D

Subject : General Knowledge

Q.No: 18 In MP Budget 2021-22, the Scheme Mukhya Mantri Krishak Fasal Uparjan Sahayata Yojana has been allocated how much rupees for farmers?
2441847

Y. SO 2021-22 W, T $YG BT I Ygradr Ao o & far & fae fvaa sud srdfed fae e 82

3000 crores

A

3000 &S

4500 crores
B

4500 TS

2000 crores
(o}

2000 TS

500 crores
D

500 TS

Correct Ans : C

Subject : General Knowledge

Q.No: 19 200-bedded super speciality block (SSS) was established under the Government of India's Pradhan Mantri Swasthya Suraksha Yojana (PMSSY). The SSB will be configured witt
2441862 portable operation theatres in Madhya Pradesh?

URA TR $I JUFHA R GRef oA (9.09.06.09.918. ) & ded 200 fwR] aren g Wikl sife (0. va. 6. ) =afda faan mar 411 ssB &1 g wexr & fira tidaa ST fger & an

6
A

6

10
B

10

19
C

19

25
D

25



Correct Ans : A

Subject : General Knowledge

Q.No: 20 Total state’s own tax revenue of Madhya Pradesh is estimated to be how much crore in 2021-22?
2441883

T T $1 $A AT BT U1 I o 2021-22 F a1 H0g §F 1 3g0H 32

Rs 23,756 crores

A
23,756 TS 39
Rs 14,129 crores
B
14,129 TS I
Rs 42,556 crores
C
42,556 HIS IqY
Rs 65,254 crores
D

3. 65,254 FINS

Correct Ans : D

Subject : General Knowledge

Q.No: 21  In thermodynamics, which process includes no change in volume and the system does no work?
2425911

e 3, 5 wiear 7 emge A P uRad= T S § 9k Rien wm e BRar €2

Isothermal Process

A
FHaT WHH
Isochoric Process
B
ARFHed vmH
Adiabatic Process
Cc
I vt
Isobaric Process
D

HoeTs Y s

Correct Ans : B

Subject : General Science

Q.No: 22 Which of the following is not a characteristic of enterobacteria?

2428807
Fraffed & @ o1 hewda o fadvar 78 32
gram-negative and rod shaped
A
TH-TERAS IR I8 & PR 1
They are usually aerobic heterotrophs
B
3 PR R W ot 8 &
E. coli, salmonella, vibrio cholera
C
<. e, areien, R o
Rhizobium
D
TgeifeEH

Correct Ans : D

Subject : General Science

Q.No: 23 Which one is incorrect regarding the different ways our surroundings get polluted?
2429273



TAR URAR & Tgfid e & fafte el & IR § S W1 Tad 82

Vehicular pollution

A
gl BT HgHu
Industries waste
B
T Sy
Domestic waste
C
TR FII
Water waste
D

T Bt wid

Correct Ans : D

Subject : General Science

Q.No: 24 Observe the following figure given below. This organism belongs to which phylum?
2429927

Roundworm
A
ey
Arthropoda
B
smifdrer
Mollusca
C
At
Annelida
D
wferer

Correct Ans : C

Subject : General Science

Q.No: 25 Angiosperm consists of -

2429941
i # SR § -
flowers

A
T
vessels

B
afeaTt
tracheid’s

C

)

D fruits



L)
Correct Ans : B

Subject : General Science

Q.No: 26 The reaction between water and calcium chloride is an example of ___ reaction.
2430200

T 3R Fierrm wiRgs & &9 3 wlafear wfafeaT &1 TF ISR B

Endothermic

A
AT
Exothermic
B
Fenagdt
Physical change
c
RIS wRads
Chemical change
D

A uRadT

Correct Ans : B

Subject : General Science

Q.No: 27 The retina is the surface of the eye.
2430372

R i@ @ B

Red
A

r

Black
B

Eanil

Blue
c

e

White
D

e

Correct Ans : B

Subject : General Science

Q.No: 28 is responsible for holding the atmosphere consisting of a large number of gases.
2430390

St e B N | o FIaIaRY S YR A F g Ber §1

Wind
A
&
Clouds
B
ed
Earth’s magnetic field
C
Tt BT JeHa 8
Gravity
D

icTeicay |

Correct Ans : D

Subject : General Science



Q.No: 29 Milkis a

2431564
U TH H|
Matter
A
gerf
Mixture
B
farsror
Element
C
ad
Atom
D
T

Correct Ans : B

Subject : General Science

Q.No: 30 The two lower chambers in the heart are called

2432180
gaddfmasdia s @l
Atria
A
3
Pulmonary vein
B
prpa Rt
Ventricles
C
frem
Aorta
D
e

Correct Ans : C

Subject : General Science

Q.No: 31 Generally at _______ years of age the menstrual cycle stops.
2432486
bicears ¢ Ft org § MR urf 7 & A S 31
30-35
A
30-35
45-50
B
45-50
25-29
Cc
25-29
35-40
D
35-40

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following is a direct method of transmission of pathogens?
2434285

Frafifea & 91 Arore! F TR0 B vy [l &2



A Exposure to contaminated blood

A o & Gud A S

Fomite like bedding
B

BAEE SR RER

Vector like mosquitoes
C

TS B T d9R

Carrier like house-flies
D

TRl ) @G a8

Correct Ans : A

Subject : General Science

Q.No: 33 Which of the following can lead to the prevention of diseases due to improper sanitation?
2434301

Frofefea § § o orfad WWodr RO G ard Sl ot Asum HR T 32

Unregulated growth of habitations

A
skt &1 aifafia fem
Keeping strict watch over contamination of food
B
WIoF & gd 1 R St FRE T
Scarcity of clean drinking water
C
WS Yae B HH
Lack of proper toilets
D

S et ot

Correct Ans : B

Subject : General Science

Q.No: 34 Icterus is another name of -

2434324
I fFHE! g AW §
Typhoid
A
RIS
Cholera
B
Fem
Hantavirus fever
C
TRy TER
Jaundice
D
diferan

Correct Ans : D

Subject : General Science

Q.No: 35 the amplitude of the vibration, the is the sound.
2434578

U BT ST R B ¢, @i I € g 31

larger, louder

31, T

B smaller, louder



PH, TSl

larger, milder

fErp, gl

smaller, milder

T, gebt
Correct Ans : A

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422627
A E B I o] u
gl | Ted 5 BT Yl TT?

A E B I o] u
A

A
A
B

B
B
1

C
1
u

D
u

Correct Ans : B

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422646 stydy the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aa__bbb__ccaaab__bc__c

Frofaied y 7 ofERl 3 T guar § T 21 37 daansh ¥ 7o oiER el U T E, SR 3 g & R fRu e e # S o § ¥ 99 8% 9 aitw) R R e R fRwed # 9 f T gmw o
SR s & g el F RIM | 98 e Qi o 9ed Iuga gl

aa__bbb__ccaaab__bc__c

acbc
A

acbc

bbcc
B

bbcc

bccc
c

bccc

ccch
D

ccch

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Krishnakant goes 10 km North, again he goes 6 km South, after that he goes 3 km East and again turns right and goes 4 km. Tell how far and in which direction is he from his
2426360



PG 10 [HAMER IR B 3R OGN §, TT: I8 6 THaAHIRR &0 B 3R A1 8, IUD d1g a8 3 [HaHie Id $i 3R STdl § 3R T: 3¢ 3R SR 4 [HameR Sidl g1 Jdig 1 a8 0 URIHS
SR fo fom & 2

6 km West

6 faaiies uftm
3 km East

3 frandier @@

4 km East

4 Rreinfiex uf

7 km East

7 e i@

Correct Ans : B

Subject : General Reasoning

Q.No: 39 A postman was returning to his post office which was to the south in front of him, when the post office was 200 meters away from him, he turned to his left and walked 100 m
2426386 |5t |etter in the home. After that, walking 50 meters in the same direction, he took a left turn and walked 200 metres. How far was he from the post office?

T ST 0 IHW B O 35 H Sfaor 7 T, a0 e 3T o, 9d SIHWR ST 200 Hiex 1 gt R o1, 98 /o arfl 3R a1 qur ‘el & sifqm o7 37 & forw 100 Hiex 9em 3u& ggm
Tiex IoaR 91 3R G T T 200 Hiex el T8 SHW I fre Hiex 3t gt W ur

0
A

0

50
B

50

100
C

100

150
D

150

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Select the option /number which is related to 3" number in the same way as 224 number is related to a

2426407 1 number?
13:9:0231:?
3W TEAT /AweT &7 99a HY S SAY ST § U THR FEOd § o gE HEAT Tgal
AT ¥ HEOA E |
13:9:3231:?
4
A
B
3
6
C
6
12
D
12

Correct Ans : A

Subject : General Reasoning

Q.No: 41 Which of the following diagram indicates best relation between Frog, Crocodile and Amphibian?



2426796

Frofafad ¥ § $9 1 o Ao, ATl AR IUTR S 9T Ia o= Yy FI ufar 82
A
B
c
O
D

© ©
O

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Select the Lettered pair that has the same relationship as given in the questions:

2426808
Agenda : Meeting
I 3HER GH PT T Y foraaT au weli 7 3w e w9 dey 9 §:
TS : FoF
Programme : Function
A
PRIFH : ARG
Performance : Ticket
B
TR : fewe
Map : Scale
C
AR Wa
Footnote : Article
D

g aE: 3
Correct Ans : A

Subject : General Reasoning

Q.No: 43 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433459

Problem Figures

Sel=IE

Answer Figures
I 1
| 1 (-

(a)

(b) () (d)




I e P T B A AR SHI W T THR T § T THR GO NP, Tgl AP U W B

e 3G :

<D=
IR 3G :

:l I: (I |
— (-
(a) (b) (c) (d)
(a)
A
(a)
(b)
B
(b)
(c)
C
()
(q)
D
(q)

Correct Ans : D

Subject : General Reasoning

Q.No: 44 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:
2434070

T[99 GTgeq 04T AT 6 BT 7R AL [Ed BITAT F3% AI99 BT 0 6L

AT
2
2
8
8
5
5
B




s

Subject : General Reasoning

Correct Ans : B

Q.No: 45  Select the option that is related to the third number in the same way as the second number is related to the first number.
2434895
729:512::343:7?

I9 faped BT 79 B o e T § I yeR T § S gEt e, et v @ wefyd 7

729 :512::343:7

225
A

225

256
B

256

216
C

216

230
D

230

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Identify the diagram that best represents the relationship among the given classes.
2435653
Paddy, Crops, pesticides

I IR P} TgTH X ol oT MU AR & " Tder BT G ST ulafAfAa BRar 21
Y, TEd, PIeARIS

©0
©0



Correct Ans : A

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third word in the same way as the second pair is related to the first pair.

2438381
Funny : Comical :: Baffle : ?
I4 faded BT 797 B S R e A S YHR Fefia & SR g T v g Weifid g1
TR : gyl T AT ?
Absent
A
ERCIRGE
Fair
B
B
Deligent
C
afRksedt
Confuse
D
it

Correct Ans : D

Subject : General Reasoning

Q.No: 48 A compass was damaged and its needle turned in such a manner that the pointer, which was showing east, is now showing south. One person went towards west as per above
2438514 (jrection did he actually go?

T $HUY &ifavrd g T A1 3R 9@ JE 30 IRe g 7T & & Jgw, 5 ud o1 o @1 o, o ER foxa 31 81 U st SR 13T T U & SR Uiy ot 3R a1 98 araa ¥ e Rem E

North
A

g

South
B

it

East
C

i

West
D

ufEm

Correct Ans : B

Subject : General Reasoning

Q.No: 49 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

<0
O«

I T g0 $Y < TE a1 W @ 9, A G T e srphodl § § $-3f O o ofy gefie



<)
Q¢

®@7777777»

O»
>0

20| |09
™Y

O »

>0

VO | [O»

QA

OA
VO

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different Identify the different one
2438838

Frafea =R dem-grll A & A 6 e we A o gk & 9HM § SR U 3OHM §1 SR JSH-g Bl 1 ST

14:3
A

14:3

17:6
B

17:6

12:4
C

12:4

D 21:2



21:2
Correct Ans : C

Subject : General Reasoning

Q.No: 51  Choose the group of letter which is different from other.

2439467

el F 39 Y B g S o F AT

ARO
A

ARO

FRA
B

FRA

UNV
c

UNV

ICH
D

ICH

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440301 (ppgistent with the main statement.

You are god fearing if you are religious
A. you are religious

B. you are not religious

C. You are god fearing

D. You are not god fearing

13T 0 vy § g o SR I9F 918 IR FUF §1 FUA BT P G I, 951 T80 HUT BT a0l g B § 8, R A T qide FU I 781 HUT I I )
afe; 3my e § o o e ¥ S ¥

A, 3T Tt §

B. 39 enfHfes g §

C. 37 WaH § 3 A §

D. (Y WEH ¥ S a1 T &
AB

AB
BA

BA

DB

DB
CA

CA
Correct Ans : C

Subject : General Reasoning

Q.No: 53  Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440342 (gpsistent with the main statement.

She goes to meet either her mother or her friends on Sundays.
A. She went to meet her mother
B. She did not go to meet her mother

C. She went to meet her friends



D. She did not go to meet her friends

T g uy B gy FuT SR SUF 918 IR FUF &1 FU BT HiEd I T, 961 U5 HUF BT A g FY I g, 3R @ Y Aifhd T W gBT FUT F WA 71
T8 XAAR B A1 A S A A o Sl e S 31

A. g o+ T & e i o

B. g 3o A A e T g ot

C. I8 ¥ il § firer 8 oft

D. 98 3 SRell § frer T8t s <t

CcD
A

CcD

DA
B

DA

CA
C

CA

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440358 (onsistent with the main statement.

He is either cunning or gullible.
A. He is cunning

B. He is not gullible.

C. He is gullible.

D. He is not cunning

R T gy B 4B S SR SUF 918 IR T §1 Y B BTG GH FH, T Ued HUT T ad g HU W 7, R & FY dfdd FU Y T FUF Y T4 3
I8 U1 A TS AT H

A. T8 =QT §

B. 98 el T B

C. @8 Wi 31

D. 9% 9IS T §
AC

AC
DC

DC
cB

cB
BD

BD
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related group of letters from the given alternatives.
2441994

ACF) : ZXVT :: EGIN : ?

fo U fawed! # 3 Heifid s1aR 1 9 I B



ACF) : ZXVT :: EGIN : ?

PRTV
A PRTV
B ZXVT
ZXVT
c VXZB
VXZB
VTRP
P VTRP

Correct Ans : D

Subject : General Reasoning

Q.No: 56 In how much time will a sum of Rs. 8000 amount to Rs. 12167 at 15% per annum compound interest?
2423677

IR 8000 F ¥. 12167 15% Wi 9 Thgfs sl W b ¥wg & w08 3 AR gRf?

8 years
A

8y

5 years
B

5T

2 years
C

2qf

3 years
D

3af

Correct Ans : D

Subject : General Maths

Q.No: 57 Solve:

2428602
46 -21 x2+888+8+(89-24x3+ 15+ 3)
T PR
46 -21x2+888+8+(89-24x3+15+3)
137
A
137
140
B
140
145
C
145
147
D
147

Correct Ans : A

Subject : General Maths

Q.No: 58 Convert into paise.

2429423
861 paise : 28 rupees
0 # v B
861 ¥ : 28 ¥UT
61:790

A
61:790
123 : 400

B

123 : 400



c 532: 701

532:701
719:110

719:110
Correct Ans : B

Subject : General Maths

Q.No: 59 The average of 3,8,9 and x is 6 and the average of 17,2,5,x and y is 8.what is the value of y?
2432563

x 3,8,9 3R x 1 319d 6 € 3R 17,2,5,x 3R y 31 3iqd 8 81 y &1 94 F1 82

5
A

5

12
B

12

20
C

20

30
D

30

Correct Ans : B

Subject : General Maths

Q.No: 60 The average age of Mr. Mark's 3 children is 8 years. A new baby is born. Find the average age of all is children?
2432599

fIF & 3 g=ii F ofwd Mg 8 I §1 TP T F HT 9 BIaT o) T Pifor i Tt g Y ST oy 82

9 years
A

9 U

8 years
B

8 Il

7 years
C

7 9

6 years
D

6 Il

Correct Ans : D

Subject : General Maths

Q.No: 61 The average of two numbers is XY. If one number is X, then the other number is

2432602
Tl AR $T 30RId Xy B1 3 U AR X @, o gu a1 g
Y
A
Y
Y/2
B
Y/2
2XY - X
c
2XY-X

D X (Y-1)



X(Y-1)
Correct Ans : C

Subject : General Maths

Q.No: 62 In a 300 ml solution containing 25% magnesium. How much pure magnesium should be added?

2432722
25% B gad 300 fidieer dia & fram e AR fireman s afge?
55
A
55
65
B
65
95
c
95
75
D
75

Correct Ans : D

Subject : General Maths

Q.No: 63 Sugar worth Rs.140/kg & Rs. 135/kg are mixed with a third variety in the ratio 1:2:1. If the mixture is worth Rs. 153/kg, the price of the 3 variety per kg?
2432750

140/fFm gwa 3t I IR %, 135/fdom B e few & wry 1:2:1 & srgura F freman s 81 9t fyor o gwa 5. 153/, 3 e 9 Siaa ufa e

153.50/kg
A

153.50/kg

105.10/kg
B

105.10/kg

252.10/kg
c

252.10/kg

207.5/kg
D

207.5/kg

Correct Ans : D

Subject : General Maths

Q.No: 64 op weekdays, the different temperatures of a city were noted, which is as follows:

2433856
329, 35%, 349, 367, 31°%, 33°c, 36°c, and 38%. What was the average temperature
for the whole week?
FTRAET 9T, TF SIg< F A qraATe 1 #r /e far s, Srgm wweE
32%¢, 35%, 34%, 36°, 31%c, 33%, 36%, T 38%c. TLTHTE FT A= ATTHIT F4T aT?
32%
A
32%
34%
B
34%
35%
C
35%



33%

33%

Correct Ans : C

Subject : General Maths

7

: s gen 1 (7 .1
Q.No: 65 Slmphfyzs.s-kﬁ,ls]

2433992

Correct Ans : B

Subject : General Maths

Q.No: 66 Ifa:b = 5:6 and b:c = 9:5, then a:c =

2435404

I a:b = 5:6 R bic = 9:5 8, W a:c H AF 5 & ¥ 71 g2

3:2
A

3:2

6:5
B

6:5

2:3
C

2:3

9:3
D

9:3

Correct Ans : A

Subject : General Maths

Q.No: 67 The ratio of present age of Suresh and Ramesh is 5: 6. After 5 years, the ratio of their age will be 6: 7. Difference of their present age is:
2435448

T SR A B AT SR T AU 5:6 §1 5 Iuf & a1, ITPT ST P SN 6:7 TN T SABT IAH MY BT SR I PR

5 years
A

5T

8 years
B

gaf

1N vanve



c Bl Bt

10 9§

14 years

14 o

Correct Ans : A

Subject : General Maths

(224'\'3"7 9?1 What should comein place of question mark in the following number series?

1418 — 6942 +89 =7x 20

FmfafEra dear-gaar & wafEeg (2) F s s wmT e ey
1418 — 6942 +89=7x20

70
A

70

69
B

69

67
Cc

67

65
D

65

Correct Ans : C

Subject : General Maths

%"\‘3‘;96492 What should come in place of question mark in the following number series?
212 4+ 132 - 172 - 104 =? +6°

frafatia dear-saer & wafeg (2) F =40 I HT AW A y?
2124+ 132 - 172 — 104 =7 +6°

a4
A

a4

1
B

1

6
C

6

2
D

2

Correct Ans : B

Subject : General Maths

(221\13(;97801 What should come in place of question mark in the following number series?

4857 — 2% =24352 + 32

Fafafara dear-gaar & wafueg (7) F a0 < F11 AW Aig?
4857 — 7% = 24352 + 32

A 13



13

15
B

15

18
C

18

16
D

16

Correct Ans : D
Subject : General Maths

Q.No: 71 In a certain code, a number 13479 is written as AQFIL and 5286 is Written as DMPN. How is 396824 written in that code?
2426515

Tw R $1s &, T 13479 T AQFIL 3R 5286 &I DMPN & &4 # forar orar 81 3¢t wl & 396824 H1 ¥ feran wian 22

QLPNKJ
A

QLPNKJ

QLPNMF
B

QLPNME

QLNPME
o

QLNPME

QLPNDF
D

QLPNDF

Correct Ans : B
Subject : Mental Ability

Q.No: 72 If ‘BAT' is coded as 4240 and ‘SAM’ is coded as 38226, then ‘NUM’ will be coded as?

2434940

T2 BAT' $1 4240 F EU & 741 'SAM’ Tl 38226 F ¥4 § Hodw a1 911 , A "NUM’ $ $8 Hoaw a1 Sem?

284026
A

284026

284224
B

284224

264026
€

264026

284226
D

284226

Correct Ans : D
Subject : Mental Ability

Q.No: 73 If JPG = 19 and PNG = 23, then TIF = ?

2434947
% IPG = 19 R PNG = 23, @ TIF = ?
20

A
20
13

B
13



15

15
23

23
Correct Ans : D

Subject : Mental Ability

Q.No: 74 If each letter of the English alphabet is assigned an odd numerical value in increasing order, such as A = 1, B = 3 and so on, then what will be the code of AIRINDIA?
2434973

I SiIh quierer F yde sfeR B Sed 9 H TP vy GO O R S R, 99 A = 1, B = 3 3R 50 )R 3, ¢ AIRINDIA &1 $e &1 grme

1172771735171
A

1172771735171

2771711173517
B

2771711173517

1173517277171
Cc

1173517277171

1173517177271
D

1173517177271

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435506 4| the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements :

I. Al momento are shining.
II. All shining are camera.
Conclusion :

I. All camera are shining.

II. All momento are camera.
III. All shining are momento.

IV. Some camera are momento.

mﬁguwﬂwﬁwmmwwmﬁwwmwmmwﬁWﬁ?aﬁwmaﬁﬁmﬁmam% Tt e o SR i Feifa X 6 g e & 3 e, f
|

BY:

1. Tt gEier, W
11 @it rghT, S €1
ﬁEF‘Sf:

L 3f R, IR g
11 it 5, HY R
111, 9+t =sfi, #Ee g
IV. 39 HW, AfA 81
Only (I) and (IV).

Faa (1) 3R (IV) TR &R
only (II) and (1V).

Fad (11) AR (IV) TR @

None of the four.

TR H ¥ P T
D Only I follow.



Faq 1 ST Bl g1
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435548 facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some tigers are lions.

II. Some lions are horses.
III. Some horses are camels.
Conclusions:

I. Some camels are lions .

II. No camel is lion.

III. Some tigers are horse.

1 U e uy & A FA IR 3T a1 A AR 1, 11 SR 111 T Y ) auh faT T e &) W I 7, 918§ OEga: I el § s sl @ar 8, st fAufa ke § 6w e wet &

qfhd U Y SFERW HX 3

DY

I. $O TE W B

1. 5% W HS B

. 38 O e Bl

e

LIT IR

1L B e IR T 3

111 $ 99 HIS 31

Either conclusion I or II follows.
A

1 < e 17 11 SFERY BT R

Neither conclusion I nor II follows.
B

Q) P 1 9iR 71 € 1T SR R 31

Only conclusion III follows.
C

Fad Iy I11 3R B g

Both conclusions I and III follows.
D

2 Frepd 1 3R 11T SERT Xa ]

Correct Ans : A

Subject : Mental Ability

Q.No: 77 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439107 gnown facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some brothers are fathers.
No father is a mother.
Some mothers are sisters.
Conclusions:

I. No sister is father.

II. Some sisters are fathers.

13 T TQ uy F I B 71 ITF Uy al e 1 au 11 RT M § 1 e A T @ &l g AT © , M) @ 9 Idara adl § i il 9 B 91 U 5 SIIUR TR STUST 9T SR & §
PYT:

T WIS o g1

¢ fore At 7 )

Fo w9 81

e

1. 31§ e foan 121 @1



11 S T8 191 §1

Only conclusion II follows

A

P Y 11 SR Feal &

Only conclusion I follow
B

Faa Py 1 TR0 T §

Both conclusion I and II follow
C

frep 1 3R 11 QT SrgERY HRa ¥

Either conclusion I or II follows
D

T o s 1 a7 11 SIgERY FRaT §
Correct Ans : D

Subject : Mental Ability

Q.No: 78 1If rings are called earrings, earrings are called bracelet, bracelet is called anklet, anklets are called bangles and bangles are called watch. Which of the following we can wear o
2439225

IfE SIS B HF FEl A §, THF P1 HTH Fgl I §, T FI UG FgT S 3, U B IS g1 Sl § IR I B 9 w1 e 31 el F F g ol I W w1 v w9d 87

Rings
A

Bangles
B

Rt

Earrings
Cc

Ecd

Watch
D

uft

Correct Ans : C

Subject : Mental Ability

Q.No: 79 If knife is called needle, needle is called scissor, scissor is called handle, handle is called lock, lock is called key and key is called thread. We open the lock with:
2439258

I TIE B GS He1 9T, Y3 H Sl BT 9, Tl SV 350 HoT 9, ST I el Hgl ST, A P 91} Hgl 9 3R Tt S 4T Fgl T g7 F el e 5-

Scissor
A
Fh
Lock
B
GLG1
Key
C
GiCi|
Thread
D
1)

Correct Ans : D
Subject : Mental Ability

Q.No: 80 Six candidates - P, Q, R, S and T sits in a row for an interview all facing to the North. These are the information about their sitting arrangement.
2439560 U and S are at the extreme ends.

Q and T are at the center.

P is to the left of R.

Which is the second person from the right end?



©g MR - P, Q, R, S 3R T Uh HI&IHR & MY U Ulad H JHI IR Bl 3R IHW IR I §1 U § 37 93 B! IR B WHSRI-
U 3R s i SRR &

QAR THEHE

P, R & &E R

218 R Y g1 Afdd B 82

Q

T
Correct Ans : C

Subject : Mental Ability

Q.No: 81 Ifin a certain code language ‘GAME’ is written as *0720012613140522’, then how will ‘NOT’ be coded in that language?
2442217

g T P BIs 4TI § 'GAME’ $1°0720012613140522" R S1a 8, o 39 411 & "NOT” & 5% ifsd faan smemme

121413152007
A

121413152007

131415122007
B

131415122007

141315127002
C

141315127002

141315122007
D

141315122007

Correct Ans : D
Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442783

BROUSERS

T M Ipfe wedl & A a8 Wsg gAY S Y T wieg & 31eRT BT RN R e ST o el
BROUSERS

Bose

Bose

Buses

Buses

Sour

Sour

Serbose

Serbose
Correct Ans : D

Subject : Mental Ability

Wihink ama iras A o lhn Fmvmand fommn bha Eallatinm labbana D



QuNO:T 83 77TV TVIM MM u rutiien v i vy e

2442866bu s dwm or

Frafafed sierl P 91 T WeE SR S 9T 82

bus dwm or

bookworm
A

bookworm

budworms
B

budworms

bedroom
C

bedroom

bathroom
D

bathroom

Correct Ans : B

Subject : Mental Ability

Q.No: 84 From the given words, select the word which cannot be formed using the letters of the given word.
2443006
DETERMINATION

frafafed faecd & & a8 Wt 3T I T TY Wz & S1eRi & WHNT & LK S o S g
DETERMINATION
DETENTION

DETENTION
DESTINATION

DESTINATION
TERMINATE

TERMINATE
DOMINATE

DOMINATE
Correct Ans : B

Subject : Mental Ability

Q.No: 85 How many such pairs of letters are there in the word ‘REPRODUCE, each of which has as many letters between them in the word (in both forward and backward directions) as
2443040 them in the English alphabetical series?

‘REPRODUCE, Wisg & fraet ¥ arerdi & wHg § o g o1 ofeRk Ia7 &1 91l & TAM § R &1 Sifioh qofaren & o0 & § (3 ofR di 1 fommad #)?

One
A

T

Two
B

@

Three
C

ikt

Four
D

IR

Correct Ans : B
Subject : Mental Ability

Q.No: 86 Two taps A and B can fill an overhead tank in 16 hours and 17 hours respectively. Both the taps are opened for 3 hours and then B is turned off. How much time will A take to
2423766 gni?



AT A 3R B U 3HaRGS ¢b &I HHT: 16 U 3R 17 9 H WX Fhd g1 AT a0l BT 3 U & 7Y WM 101 91l 8 3R (%R B &l dg PR Q41 Sdl 81 VY b Bl WA H A Bl fhd-1 IAT TAM?
267/32 hours

A
267/32W
523/12 hours
B
523/12 6
380/23 hours
c
380/23 °¢
173/17 hours
D

173/17 9
Correct Ans : D

Subject : General Aptitude

Q.No: 87 Find triangle’s area if its base is 15 cm and height is 10 cm.
2426194

TF FAYS FT &6 I PR Y S0ST MuR 15 Jft 7 ofR Farg 10 Jft 7

75 em?
A

75 dHR

40 cm?
B

40 R

85 cm?
C

85 d#e

110 cm?
D

110 1

Correct Ans : A

Subject : General Aptitude

Q.No: 88 If hemisphere’s radius is 21 cm then, calculate the hemisphere’s surface area.
2426219

gfe; Mers, 3 Ao 21 It ], o g S Fag &7 B 0T B

2218 cm?
A

2218 JHR

5562 cm?
B

5562 JHR

4158 em?
C

4158 e

6162 cm?
D

6162 JFN:

Correct Ans : C

Subject : General Aptitude

Q.No: 89 Calculate the cylinder’s height if its curved surface area is 528 cm? and radius is 14 cm.
2426229

I ST GATAER Tolg &1F 528 T § 3R B 14 F+ir § ot Ryeist ahr s oy arorem &l



A o un

6 ¥

7 cm

7 ¥l

9cm

9 Fdfiex

11 cm

11 Yéhfiex

Correct Ans : A

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 31?

2427648
Froffea & § oM 31 & faursa 32
482901
A
482901
155186
B
155186
383929
c
383929
2847491
D
2847491

Correct Ans : A

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 41?

2427661
frofafea & § $19 41 § faursa 82
803457
A
803457
887655
B
887655
975135
c
975135
8643157
D
8643157

Correct Ans : B

Subject : General Aptitude

Q.No: 92 AS5676432783215B is divisible by 18 find the value of 9A - 5B.
2427679

A5676432783215B, 18 ¥ fAHTST § 9A - 5B &1 A I FIRMI
78

78



55

26
C

26

56
D

56

Correct Ans : A

Subject : General Aptitude

Q.No: 93 Solve the following equations for x.

2431206
6x-27+3x=4+9-x
x & fg ga a3
6x-27+3x=4+9-x
4

A

B
5
6

C
6
-4

D
-4

Correct Ans : A

Subject : General Aptitude

Q.No: 94 The sum of the digits of a two-digit number is 4 more than the excess of the units digit over the ten’s digit. If the product of the digits is 16, find the number.
2431223

3 ST P U@ T &SIl BT AN o & 3T & 3T 9P S oMy F 4 3 31 ARSIl &1 UFIHa 16 7, @ T T4 Pratoul

82
A

82

28
B

28

44
C

44

32
D

32

Correct Ans : B

Subject : General Aptitude

Q.No: 95

is5 20 . e . .
2433807 The area of a thombus is 50 cm?.if its perimeter is 25 an, and then find its aldmde.

TF AHATEST FAAFRA 50 AHT2 1 T2 TFT IR 25 T g, i Py
ST T A

4



C
3.3
5

D
5

Correct Ans : D

Subject : General Aptitude

(224.11\‘303:89163 The perimeter of arectangle is 90 cm?. If its length is 5 cm, find its breadth.
TF AET FT IIATT 50 T2 81 gtz goefr siamd s 96T g, a7 Ty sherd s fifv)
40 cm
A
40 ¥f
80 cm
B
80 &t
55 cm
C
55 I
60 cm
D
60 It

Correct Ans : A

Subject : General Aptitude

Q.No: 97 36 men together can build a wall 140 m long in 21 days. The number of men working at the same rate required to build the same wall in 14 days is-
2436098

36 Mgt AR 140 . vt dar 21 T & 71 god §) I o ¥ gt 14 @A & o9 & R smefiat a6t sazawdr §-

54
A

54

as
B

a8

36
c

36

18
D

18

Correct Ans : A

Subject : General Aptitude

Q.No: 98 The ratio of present ages of Vijay and Prashant is 8 : 9. The ratio of their ages before 6 years was 13 : 15. Find the ratio of their ages of 12 years from now.
2436897

oot oiR URId 3t T oY FT SR 8:9 B1 6 ¥ UG B 3G HT U 13:15 U11 3@ F 12 ¥ 916 IAS! 3T ST U 1 DY?

12:13
A

12:13

11:12
B

11:12

10:11
C

10: 11



13:14

13:14
Correct Ans : B

Subject : General Aptitude

Q.No: 99 Find the volume of a frustum with radii 6 cm and 8 ¢cm and height is 10 cm.
2444486

oo &1 3gad F1d PN R Bsart 6 Aedt oiR 8 It § ok Far 10 Wt

2150 cm?
A

2150 Iy

1750 em3
B

1750 T+

1550 cm?
(o}

1550 &y

2025 cm?
D

2025 T

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (?) in the following number series?
2444854

53, 53, 40, 40, 27, 27, ?

Fofied SeT JEe § UHaEs 6% (7) & RIFM R 1 M 910?
53, 53, 40, 40, 27, 27, ?

14
A

14

12
B

12

27
C

27

51
D

51

Correct Ans : A

Subject : General Aptitude



